
Test of Wuthering Heights   P1-48
一、单选题

1. Who is the author of Wuthering Heights?

A. Charlotte Bronte     
B. Emily Bronte 
   C. Anne Bronte

2. Where was Wuthering Heights set?

A. West Yorkshire   
B. East Yorkshire   
C. North Yorkshire

3. Wuthering Heights stands on the top of a hill. On one side of it there are few trees. They all lean in the same direction, blown by the strong _________ wind.

A. west  

  B. south 

   C. north
4. The book is told in a series of _______________.

A. flashbacks      B. narration       C. narration interspersed with flashbacks
5. What is the relationship between Heathcliff and Mr. Lockwood?

A. Brothers         B.  Rivals        C. Landlord and tenant
6. Who is not in when Mr. Lockwood visited Wuthering Heights the second time?

A. Hareton 
     B. Joseph
      C. Dean 
7. Hindley got married to ______________

A. Isabella Linton     B. Catherine Earnshaw    C. Frances
8. Hindley didn’t come home until _______________.

A. his father wrote to him     B. his father’s funeral     C. his father’s birthday

9. Cathy Linton is the widow of ______________

A. Linton Heathcliff    B. Hareton Earnshaw   C. Edgar Linton

10. What kind of hair does Cathy Linton have?

A. dark curls
    B. golden straight
     C. golden curls
11. The worst punishment Hindley could invent for Heathcliff and Catherine was ___________.
A. working in the stable   B. not giving them anything to eat   C. separating them
12. Nelly felt ___________for Heathcliff because Hindley was cruel to him.

A. hate   B.  love   C. sympathy
13. Isabella Linton was __________ younger than Catherine.
A. two years    B. one year   C. three years
14. The dog in Thrushcross Grange attacked Catherine, and had her ______ in its mouth.
A. hand

B. arm  

C. ankle
15. Catherine stayed at Thrushcross Grange for ______ weeks?

A. five 

B. six
 
C. seven 

16. Who said Heathcliff’s hair hung over his eyes like a horse’s mane?

A. Hindley  
B. Isabella 
 C. Edgar
17. Heathcliff seemed to __________ Hindley’s sinking lower and lower.
A. be worried about   B. show sympathy for   C. be happy about
18. Catherine chose to marry _____________.
A. Hindley    B. Edgar    C. Heathcliff
二、多选题

19. The story is narrated by ______________
A. Mr. Lockwood      B. Heathcliff       C. Nelly Dean
20 .Wuthering Heights is a story about __________.

A. family           B. love            C. revenge
21. Hindley’s wife is ______________.

A. young           B. pretty            C. healthy.  
22. Why did Mr. Heathcliff’s appearance surprise Mr. Lockwood?

A. Because he was tall and handsome.    
B. Because he was dressed like a gentleman.

C. Because he was dark and looked like a gypsy.

23. What were the changes of Catherine when she returned from Thrushcross Grange?
A. She had a feather and her brown hair falls in smooth curls over her shoulders
B. She wore a lovely silk dress under her cloak    
C. She found Heathcliff strange and dirty.
24. What were the changes of Hindley after his wife died? 

A. He started drinking a lot and gambling.  
B. He didn’t care about anything any more.      

C. He treated his servants badly.
三、True or False Questions
1. The moment Wuthering Heights was released, it was popular among readers.  

2. Wuthering Heights is the best building in the neighborhood.   
3. After talking with Heathcliff, Mr. Lockwood enjoyed the conversation very much.          

4. For some reasons, Mr Earnshaw prefers Heathcliff to Hindley.  
5. Heathcliff returns from Thrushcross Grange, because Catherine has been missing, and he comes back to Wuthering Heights for help.    
6. Catherine can’t marry Heathcliff because she dislikes him.
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Lesson 9   Flying cats 飞猫

Cats never f           to f                 human beings. They can be friendly and
a                 towards humans, but they lead m             lives of their own as well. They never become s            like dogs and horses. As a result, humans have learned to respect f___________ i                  . Most cats r           s                 of humans all their lives. One of the things that f                us most about cats is the popular b         that they have nine lives. A             , there is a good d        of t             in this idea. A cat’s ability to s           falls is based on fact.
      Recently the New York Animal M___________ Centre made a study of 132 cats over a period of five months. All these cats had one experience in c           : they had __________off high buildings, yet only eight of them died from s            or i            . Of course, New York is the i           place for such an interesting study, because there is no s               of tall buildings. There are p             of _____________ windowsills to fall from! One cat, Sabrina, fell 32 __________, yet only s             from a broken tooth. ‘Cats b          like well-trained paratroopers,’ a doctor said. It seems that the f           cats fall, the less they are likely to ___________ themselves. In a long______________, they reach speeds of 60 miles an hour and more. At high speeds, falling cats have time to r        . They s          out their legs like flying squirrels. This increases their a               and reduces the shock of i           when they h            the ground.  

